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2-Lesson 27

1. Divide. Check your work with multiplication.

63 =18

| can estimate. 60 tenths +
20 = 3 tenths.

| can estimate again.
100 hundredths = 20 = 5 hundredths.
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| still need to check my work. But since the dividend, 6.3, is less than
the divisor, 18, a quotient of less than 1 is reasonable,

Check:
8.3 5
X 18
BT
2 8¢
+ 3 5 0 After checking, | get 6.30, which does match the
m-—m original dividend. So | know | divided correctly.
Lesson 27: Divide decimal dividends by two-digit divisors, estimating guotients,
50 reasoning about the placement of the decimal point, and making- EUREM

connections to a written method., MATH“
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2. 43.4 kilograms of raisins was placed into 31 packages of equal weight. What is the weight of one package

of raisins?
[ } can use division, 43.4 + 31, to find the weight of one package.

i 4
31 i 4 3 4
- 3 1 43.4 kilograms divided by 31 is equal to 1.4 kilograms. }
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The weight of one pockoge of roisins is 1. 4 kilogroms.

The guotient is reasonable, Sincethe dividend, 43.4, is just a little
bit more than the divisor, 31, a quotient of 1.4 makes sense.

§UREM Lesson 27: Divide decimal dividends by two-digit divisors, estimating quatients, 51
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